H & 0l & AHS B Ml A

20233 =0llah LB SN 2022-12-30 10:47:43

A nSHEL
By (IZDE SN
Gl (IZREIIMEL L 249 X2 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
wSHF 30,255,769 25,931,609 4,324,160
= 1,326,460
[ 600,000
Jl 384,889
< 3,833,723
Al 24,110,697
Hsws SE8X 30,227,569 25,903,409 4,324,160
= 1,326,460
s 600,000
Il 384,889
= 3,833,723
Al 24,082,497
Hsusoeryd & 284 NH 21,729,572 16,692,252 5,037,320
= 563,800
s 600,000
Il 384,889
= 1,659,423
Al 18,521,460
H=ws Jligtxd 491,155 503,304 A12,149
101 @124H| 8,400 0 8,400
04 JIZtNZ22 NS+ 8,400 0 8,400
O 2ZH0IHAHDIZ E4ac2] UFY
8,400,000 8,400
201 =3 102,292 87,492 14,800
01 At22t2l] 48,380 37,580 10,800
ER=last=ull 19,230
olisus g2=d 5,000,000& 5,000
OZMAHE AAHAZZFA & AlUHA 3
AEE 79(AW,01H, 5H)
1,000,000& 1,000
OAILHEHA AIZEE I 10,000,000& 10,000
OH=ZHAl MHEFEE AEIFH
1,430,000& 1,430
O+=R2SEE UHSNSORNAIAE AIZE =
== 1,800,000 1,800
O=g8+¢ 3,150
OuSAN0ISEH2ASH 4o?As HAH+
g 840,000 840
OHAMEXIE o g
1,120,000 1,120
OuSHEIM o2 Fe+E
490,000 490
OSIAIRXIPIRS ALY
700,000 700
Ol 5,000




A NSHAFE
3 sus s8N
o9l HERSIIPEY U 2427 N COR
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
olisus g2=d 4,000,000 4,000
OANEEXE YA &
1,000,000& 1,000
Ogx= 21,000
OZ2d HAHOIE Al MK LI
12,000,000 12,000
OEE & WASLE 4t U3
9,000,000& 9,000
02 S3=gHl 53,912 49,912 4,000
0s52= & HAl 49,912
OLSHY AP & 2BER=
1,200,000 1,200
osdd ks S 12,712,000& 12,712
OHANSAIAR(BIS) M) & SURS S
36,000,000 36,000
OAlIZ ZHI= I 4,000
oZrd HOIE, 28 HOlIE |RXE=H|
4,000,000 4,000
202 04l 5,663 5,012 651
01 =LHAHI 5,663 5,012 651
OUsusS gFFA 5,663,000& 5,663
207 ARl 100,000 50,000 50,000
01 A S| 100,000 50,000 50,000
OAIUHA HI=AHI e ISEEA S
30,000,000& 30,000
OAMUHA AR HZA B
20,000,000 20,000
O=2SEE tA T & 2L 312E
B 50,000,000 50,000
401 Al HIZ R OHHI 274,800 360,800 86,000
01 AlZ8| 274,800 360,800 286,000
OAlUHA S2& DN 128,000,000 128,000
OtlA EXEXE 84X & s2E RAE+
40,000,000 40,000
OAMUHA s2E SZFH
46,800,000 46,800
O3S uSaEH =4 At
30,000,000& 30,000
O&SAY U H5Us sHA &4
30,000,000& 30,000
2 N2 6,041,734 7,298,379 1,256,645
307 el2to| & 6,041,734 7,041,411 A9909,677
02 2B YA R E £ 22,430 22,430 0
OAUHA LEpgAE =2ld] X
12,300,000 12,300




A nSHEL
3 sus s8N
el IERSIIES W 2227 N (crol: @ 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSEHAHDIE due 8= X2
5,450,000& 5,450
OZ2SHAHIIE &Y A2F XY
4,680,000& 4,680
03 LM EE2SHIEX 19,304 18,981 323
OZBHAEDE 201ZRL 29
19,304,000& 19,304
09 2+AE2LS 6,000,000 7,000,000 1,000,000
02427 (B2 312, HA)RIIRES
6,000,000,000& 6,000,000
WESAT0ISHASER X2l (EX) 66,900 49,500 17,400
s 44,600
Al 22,300
307 @I2t01 & 66,900 49,500 17,400
[ 44,600
Al 22,300
09 2+LAE2ES 66,900 49,500 17,400
OS0IEXY SNSsM SstelA| 2
66,900,000 66,900
= 44,600
Al 22,300
AUHA THEXIR 2,545,381 1,949,128 596,253
307 @120l & 2,545,381 1,949,128 596,253
00 B+EAHEX 2,545,381 1,949,128 596,253
OAlUHA HEXIE 2,545,381,000& 2,545,381
AL A THE R (EX) 555,500 620,416 N64,916
== 217,750
Al 277,750
307 elztol & 565,500 620,416 A64,916
= 277,750
Al 277,750
09 2+ AELES 555,500 620,416 64,916
OAIUHHA THEXR 565,500,000 565,500
= 277,750
Al 217,750
AUHA SRS 1,130,379 1,027,877 102,502
307 21201 & 1,130,379 1,027,877 102,502
ExgAEXs 1,130,379 1,027,877 102,502
OAlUEA HERSH A28 =3
1,130,379,000& 1,130,379
AUBHASET &AM EH 450,380 342,671 107,709
307 elztol & 342,671 342,671 0
09 2s-gAE2LS 342,671 342,671 0




A nSHEL
M (SDE SN
ol IEDE)IBES 2 223 e (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OANUBA ST s S D H (HEAILIHA
) 55,096,000& 55,096
OAUHIA BT d A S (1AL A
) 287,575,000 287,575
308 AXIHMSO0IA 107,709 107,709
07 AXeH2ZFE= 107,709 107,709
02ER OISHA 289X N9
107,709,000 107,709
AU A HIEd &8 (2X) 1,712,777 1,704,694 8,083
= 500,000
Al 1,212,777
307 el2to| & 1,712,777 1,704,694 8,083
[ 500,000
Al 1,212,777
0 B+HHEXS 1,712,777 1,704,694 8,083
OAMUHA SRS SAEH(QAFH2AH)
1,712,777,000& 1,712,777
[ 500,000
Al 1,212,777
SEHA HERIA 736,400 220,500 515,900
402 2I2F X201 & 736,400 220,500 515,900
01 QIEXF 2 AL E (XM TH ) 736,400 220,500 515,900
O2XN A SSBHA HHX K&
736,400,000 736,400
A Z XA 126,000 126,000
301 Eet2 NS 126,000 126,000
14 0Bt 2as 126,000 126,000
OAZ T EA XA 126,000,000 126,000
BIAIZRE XIR(ExX) 104,000 78,000 26,000
= 31,200
Al 72,800
301 LEtE NS 104,000 78,000 26,000
= 31,200
Al 72,800
4Bt 2 a3 104,000 78,000 26,000
OB A S E2LXE 104,000,000 104,000
= 31,200
Al 72,800
BIAIZH 2Y XJ(EX) 127,002 129,198 A2,19%6
[ 38,101
Al 88,901
307 glztol & 127,002 129,198 A2,196
== 38,101
Al 88,901




A nSHEL
HH: (ZLE SN
Gl (IZREIIMEL L 249 X2 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
09 2+AE2LS 127,002 129,198 N2,196
OEARS S22 X2
104,100,000 104,100
= 31,230
Al 72,870
OEAIRs =S8z X3
22,902,000 22,902
< 6,871
Al 16,031
SHAISHEBRRIAAL 2L 4,50 4,508
308 AHXIEMSOIH 4,599 4,593
11 SIS0t oA AS A 4,599 4,593
OHAIZd J=22c| AIAE
4,599,000 4,599
EASSEMHE SS70 KA (HEAIE)(EX) 53,820 15,000 38,820
== 26,910
Al 26,910
401 A2 HIRL R 0HbI 53,820 15,000 38,820
[ 26,910
Al 26,910
01 Al&H| 53,820 15,000 38,820
OB AZEOR & X 53,820,000 53,820
= 26,910
Al 26,910
STEUA(HESEA) XZAL(EX) 200,000 200,000 0
[ 100,000
Al 100,000
307 @12t01 & 200,000 200,000 0
[ 100,000
Al 100,000
09 2 AHEXS 200,000 200,000 0
OS2 (#=2)2A N2
200,000,000 200,000
s 100,000
Al 100,000
SSEEA(HFZ2EA) XA 455,200 500,000 144,800
307 gl2to| & 455,200 500,000 A44,800
QB 2=gHEXS 455,200 500,000 A44,800
O3S (H=2)8A N
455,200,000 455,200
SgussH 234 NA(EX) 1,063,594 779,342 284,252
7l 384,889
Al 678,705
307 lztol & 1,063,594 779,342 284,252




A nSHEL
HH: (ZLE SN
Gl (IZREIIMEL L 249 X2 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 384,889
Al 678,705
05 2ItRIE = 1,063,594 779,342 284,252
OSEDELH(NA2A) 29
847,594,000 847,594
Jl 255,289
Al 592,306
OS XAl XI& 216,000,000 216,000
Il 129,600
Al 86,400
Sgus=¢ 244l XA 221,423 187,000 34,423
307 lztol & 221,423 187,000 34,423
05 2ItRIE = 221,423 187,000 34,423
O SHAl =29 206,606,000 206,606
OS XA =24 14,817,000& 14,817
VERHI S ALY HIEE XY (EX) 40,000 20,000 20,000
= 4,600
= 7,400
Al 28,000
301 LEtE N = 40,000 20,000 20,000
= 4,600
S 7,400
Al 28,000
14 IIEt2 83 40,000 20,000 20,000
OIE=4N Hols Malgtd QIdEE X
el 40,000,000& 40,000
= 4,600
< 7,400
Al 28,000
LE2HLA Beis AHdEty QIHEIE K& 10,000 25,000 A15,000
301 EtE N = 10,000 25,000 A15,000
4Bt 2 a3 10,000 25,000 15,000
OIIEHN HolS MalBte QIdIEIE X
! 10,000,000 10,000
SSNSI SYXUHDX ZEAS (HEAY)(EX) 2,409,000 0 2,409,000
< 1,000,000
Al 1,409,000
401 AlEHIZL SO 2,409,000 0 2,409,000
& 1,000,000
Al 1,409,000
01 Al&H| 2,400,328 0 2,400,328
O=NST SSRLA =8 At
2,400,328,000& 2,400,328
= 995,664




A NSHAFE
Zu: (JERE SLNL
ol OIEDEJIHES 2 2293 X2 (Shol: % 2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Al 1,404,664
03 Al = THHI 8,672 0 8,672
OSISNEX BAXDX £8 AR
8.,672,000& 8,672
< 4,3%6
Al 4,336
FEHDIE X4 1,800,000 1,800,000
401 AlEHIZ S 0HbI 1,800,000 1,800,000
01 A=l 1,800,000 1,800,000
OATEIDIE =X 0HLbl
1,800,000,000& 1,800,000
EEOIE HUIAIE(E=X) 23,320 0 23,320
== 8,162
Al 15,158
401 Al HIZL S 0HYI 23,320 0 23,320
< 8,162
Al 15,158
01 Al&H| 23,320 0 23,320
OZEHOIE 3l At 23,320,000& 23,320
= 8,162
Al 15,158
29 BISKIZ ALY (EX) 600,000 300,000 300,000
= 180,000
= 120,000
Al 300,000
403 AXIEHMSAH=0ld 600,000 300,000 300,000
= 180,000
< 120,000
Al 300,000
02 S 2SS0t et =& 2 EF A I 600,000 300,000 300,000
OZAHAZZAIAE(BIS) &
600,000,000& 600,000
= 180,000
< 120,000
Al 300,000
NatA EUEE(EX) 276,000 276,000 0
= 138,000
[ 69,000
Al 69,000
402 QI2F X201 & 276,000 276,000 0
= 138,000
== 69,000
Al 69,000




A nSHEL
HH: (ZLE SN
Gl (IZREIIMEL L 249 X2 (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 QI X2 AL EE(OIETHE) 276,000 276,000 0
OM&HA THl X ALY
276,000,000 276,000
= 138,000
< 69,000
Al 69,000
MAHA 2H(EX) 15,000 0 15,000
= 4,500
Al 10,500
307 gl2to| & 15,000 0 15,000
= 4,500
Al 10,500
02 QB AANEE R 15,000 0 15,000
OM&aHA 2234 15,000,000 15,000
== 4,500
Al 10,500
HIIHA FOHKIR(EX) 420,000 0 420,000
= 210,000
== 63,000
Al 147,000
402 2I2E X201 & 420,000 0 420,000
= 210,000
= 63,000
Al 147,000
02 BIENZASEZ(0IETHR) 420,000 0 420,000
OXIIHA =H| K& At
420,000,000 420,000
= 210,000
= 63,000
Al 147,000
HAREAAE(BIS) 22 50,008 0 50,008
308 AHXIHMSO0IA 50,008 0 50,008
11 S [2S0 e YA A A 50,008 0 50,008
OHARSAIAE(BIS)R A2
50,008,000 50,008
A EMEEY & wWSALI0Y 8,425,273 9,142,493 AT17,220
= 762,660
[ 2,174,300
Al 5,488,313
WSHMAIE =HE L WEAMD oL 1,450,692 1,279,993 170,699
201 Ler23 | 396,192 395,493 699
01 At2tltl 37,184 36,485 699
O +=SH| 27,844
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A nSHEL
3 sus s8N
ool EIX MAEE L DEADOY (o) @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 2IHBHAIHE £ 3,000 3,000 0
OZEH=AN3 NSSA €S
3,000,000& 3,000
401 AIEHIX R0 1,050,000 800,000 250,000
01 A28l 1,050,000 800,000 250,000
OuSoHN ANIEE EX(RHEH
300,000,000 300,000
OuSHMAIEE EX(EXH SXE=)
200,000,000 200,000
OUSoH das RAE+ & £X
250,000,000 250,000
OALAZWXZ WELSS OIESAt
300,000,000 300,000
ETEE ORISZD| XM (EX) 74,600 36,500 39,100
& 22,300
Al 52,300
401 AlZHIZL RO 74,600 36,500 39,100
= 22,300
Al 52,300
01 Al&H| 74,600 35,500 39,100
O2HEL ORIFEZI| X A
74,600,000 74,600
=S 22,300
Al 52,300
OISFUES T ZEMH(EX) 300,000 360,000 60,000
< 90,000
Al 210,000
401 AlZHIZ S0 300,000 360,000 260,000
= 90,000
Al 210,000
01 Al&H| 297,840 357,408 A\59,568
OlS=ESRA =4
297,840,000 297,840
= 89,352
Al 208,488
03 Al 20HHI 2,160 2,592 A432
O0SFESHY =4 2,160,000& 2,160
== 648
Al 1,512
CCTV sl 2tel 266,000 266,000
401 AIZHIZ SO 266,000 266,000
01 Al&H| 266,000 266,000
SelLSEHEIet 211 SAt
200,000,000 200,000

_10_




WSHH
(5Ds S4%2
FEA ENEE 2 WSAH0 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ETIESp IS g
66,000,000& 66,000
OElol 257 HE (HMEAY 1,400,000 0 1,400,000
= 700,000
Al 700,000
401 Al HIZ S 0HHI 1,400,000 0 1,400,000
== 700,000
Al 700,000
01 Al&HI 1,394,960 0 1,394,960
OOBI0I125 7S W JHE AL
1,394,960,000& 1,394,960
= 697,480
Al 697,480
03 AIZ 2 THYI 5,040 0 5,040
O0el0I25 729 L JHH A
5,040,000 5,040
s 2,520
Al 2,520
SEFXE 2L (MEAY) 2,500,000 1,900,000 600,000
S 1,250,000
Al 1,250,000
401 Al HIZL 201 2,500,000 1,900,000 600,000
= 1,250,000
Al 1,250,000
01 Al&H| 2,491,000 1,893,160 597,840
SE ¥ DEFNT Ty
2,491,000,000& 2,491,000
=S 1,245,500
Al 1,245,500
03 Al 20HHI 9,000 6.840 2,160
O== & =X £
9,000,000& 9,000
= 4,500
Al 4,500
SEFIE X4 644,000 337,000 307,000
201 er2 3| 44,000 37,000 7,000
01 AtR2t2|HI 40,000 33,000 7,000
Osx= 40,000
OZ M F=X& Xt 40,000,000& 40,000
02 S5=24g4l 4,000 4,000 0
OAI2EHI= X 4,000,000 4,000
401 Al HIZ 2018 600,000 300,000 300,000
01 Al&H| 600,000 300,000 300,000
OBA =Y 24 AL 300,000,000 300,000
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A NSHAFE
3 sus s8N
ool EIX MAEE L DEADOY (o) @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ot 8L 87 M)
300,000,000& 300,000
NSEUSHARSAL(EX) 1,200,000 2,100,000 800,000
= 720,000
Al 480,000
401 Al HIZ S 0HHI 1,200,000 2,100,000 A900,000
= 720,000
Al 480,000
01 Al&HI 1,195,680 2,092,440 A\8%,760
OXSE(ITS) nSHAH 75
1,195,680,000& 1,195,680
- 717,408
Al 478,272
03 AIZ 2 THYI 4,320 7,560 A3,240
OXISE(ITS) RSHAH 7=
4,320,000& 4,320
= 2,592
Al 1,728
NEH=H HAE AIE2 84X & 2el 30,000 32,000 A2,000
201 el 4,500 4,500 0
01 At2telt] 4,500 4,500 0
O +=ZH| 2,000
OXEH=MN nNS2ALIANE 2SS 7
2,000,000& 2,000
Osx= 2,500
OXEH=HM HIxte St
1,500,000 1,500
OXNEH=MN WSAES EX 2L &
Xt 1,000,000 1,000
401 AlZHIZ S OHbI 25,500 25,500
01 A28l 25,500 25,500
OXBE=H St PEESH X wsSAlE
2X & EA 22,000,000& 22,000
OXEH=N nSAHHEXE &X il
3,500,000& 3,500
Nse WSHA ALY 2t 200,000 380,000 A180,000
401 AIEHIX SO 200,000 230,000 /30,000
01 Al&H| 200,000 230,000 30,000
OXISE nSAIAS(ITS) 2EAIY S22
200,000,000 200,000
SYFIA H5EE SE ML =TAE 8,881 8,881
201 =3 8,881 8,881
2 S22l 8,881 8,881
OSEFIULELEALE RANES
5,381,000& 5,381
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A nSHEL
3 sus s8N
ol EHT ENSY L DEADY (SHol: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
e TN
3,500,000& 3,500
CRAYLH(MUSS)YATE Zet 25 AY(EX) 71,100 71,100
= 42,660
Al 28,440
401 Al HIZ S 0HHI 71,100 71,100
= 42,660
Al 28,440
01 Al&HI 71,100 71,100
O 2XYMY|(MBS)2ARY omet
= At 71,100,000 71,100
= 42,660
Al 28,440
LOIES A L HEAI (HEALY) 140,000 140,000
= 70,000
Al 70,000
401 AlZHIZ SO 140,000 140,000
== 70,000
Al 70,000
01 Al&HI 138,992 138,992
OS5 U N At
138,992,000 138,992
= 69,496
Al 69,49%
03 A2 THYI 1,008 1,008
COIES TS L A AHY
1,008,000& 1,008
=S 504
Al 504
25N F=H 2 FEUSX HM A ZM(2X) 100,000 100,000
< 30,000
Al 70,000
401 AlZHIZ SO 100,000 100,000
= 30,000
Al 70,000
01 Al&H| 99,100 99,100
25t FH =Y FENSA BN HAl &
4 99,100,000 99,100
=S 29,730
Al 69,370
03 Al 20HHI 900 900
O43d =3 =8 FIXN=X B4 HAl &
4 900,000 900
= 270
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